
1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

Parts List
Item Description Qty

1 1
2 2
3 1
4 2
5 4
6 4
7 1
8 2

1

2

3

6

5

4 SYNC EXTENSION CLAMP  OR ANGLED
SPACER REQUIRED IN ASSEMBLY

(VISUAL REFERENCE ONLY)

SYNC 125mm OFFSET 20mm TOP PLATE

8

Shiv Tri Basebar Adapter Bolt Kit - M8 x 30-80mm
Low Head

Basebar Adapter - Specialized Shiv Tri Disc

Top Plate Cover Screws - M3 x 6mm T10 CSK

Top Plate Cover (Right)

Clamp / Spacer Screws - M5 x 14mm

Top Plate Screws - M6 x 16mm T30 CSK

Top Plate Cover (Left)

7

SHIV TRI DISC FIT KIT BILL OF MATERIALS

Not Included in Fit Kit


	Sheets and Views
	Sheet1


